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202 Od4dl 2,400 2,400 0

01 = LHA YI 2,400 2,400 0
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OMESHH =sHEd s 2 28l 20,150
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403 XX SHHMS K201 A 15,756 0 15,756
J| 12,120
=} 3,636
01 XS RS2 X 15,756 0 15,756
OMEHY ==SUHERY MBS 20X 15,756
J| 12,120
& 3,636
ool = & A NKAMEER(E) 27,000 27,000 0
307 2iz2tol & 27,000 27,000 0
02 QIZFE AAIE E X 27,000 27,000 0
Oolol=ogtns L E2 (0l AHE210%) 27,000
Of0l= L HeEue NAMEZ(AZZA) 229,624 217,231 12,393
J| 176,634
= 52,990
308 XAXISH SO0l & 229,624 217,231 12,393
J| 176,634
= 52,990
01 AIXSHHENEXZ 229,624 217,231 12,393
Ooflol =& X &M= H| 176,821
J| 136,016
o= 40,805
OMEZE A%TY X & 10,452
J| 8,040
& 2,412
OO0l =&CE Al XS 35,201
Dl 27,078
= 8,123
OHgAEY FE A%2Y N 7,150
J| 5,500
= 1,650
StAl 2H0| L2 FEHS AKX J L MOFSHA QN A A H| X & 131,567 127,183 4,384
= 101,205
& 30,362
308 XX GH SO0l & 131,567 127,183 4,384
= 101,205
= 30,362
01 AIKSHHEMNEXZ 131,567 127,183 4,384
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Ostdlg 2H0|LZ2AE 2 18,827
= 14,482
< 4,345
stagE i A= XA 150,241 180, 241 230,000
307 21201 A 145,100 145,100 0
02 HAFAANFEX 8,100 8,100 0
ORstdgEaL 8 L o S0 E210%
) 5,400
OXIstHl M=HS & IH(Ol&HE 2H10%) 2,700
05 BIZERI & 3 137,000 137,000 0
Ogtulg &g NI ALY 100,000
OstdlH &Rt e A XI& 37,000
308 XX EHHSOIA 5,141 5,141 0
01 X HHBLEES 5,141 5,141 0
Ogtdlg &t M= K& 5,141
st S A2t K& HEEX 24,000 24,000 0
403 UHXHHS =0l 24,000 24,000 0
01 X SHMA2E X 24,000 24,000 0
Ot & X Ea&E 228 XN 24,000
Stul 20| L 28 JsE2 24,862 80,308 A bB5,446
= 19,125
< 5,737
403 XM S =0l & 24,862 80,308 A 55,446
= 19,125
= 5,737
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= 19,125
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= 97,200
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H=2ZA 23 3 19,396 20,696 A 1,300
= 14,920
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< 4,476




SN BAR Y
M A g2 PAYRMHA 7E
Sl g U AHHH YL (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
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J| 80,000
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J| 80,000
ozllALgY HEZAMA S (AMZ) 700 700 0
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308 XXM SO A 700 700 0
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01 IXNHHBNEES 700 700 0
Oozzd 29y 2L (XXIEH) 700
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ZSDI0HN 2 ogzel(Es2el) 72,280 17,290 54,990
J| 55,600
< 16,680
308 XtXIEHH SOl A 72,280 17,290 54,990
J| 55,600
< 16,680
01 AXHHILEES 72,280 17,290 54,990
OggHas g2 (dz2elAgI2 72,280
J| 55,600
< 16,680
S0 2 o2l (AZ2Z A 31,680 54,000 N 22,320
308 A EHHSOIA 31,680 54,000 N 22,320
01 AXNSHBLEES 31,680 54,000 N 22,320
OZEHEE HL2eIMg X 31,680
ZEg gass 2 49,638 67,500 A 17,862
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308 MtXIEHMSOIH 200,000 200,000 0
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= 140,000
J| 6,703,769
= 1,820,466
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J| 56,000
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OXdsSzdaAg 2 (EH 23 56,000
J| 56,000
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308 XXIEHSO0IA 2,240,000 2,832,000 A592,000
| 2,240,000
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10 I 2SHHEE AR E ALY 45,000 0 45,000
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307 Q12+0| & 57,143 95,000 A 37,857
=2 40,000
[= 17,143
01 g 2Ypa| 57,143 95,000 A 37,857
OAZ0Z2X S AQHE 2N AY 57,143
=2 40,000
[= 17,143
RO BMHIA BAMA 23 25,393,672 21,974,018 3,419,654
= 10,529,248
[ 14,579,424
Cl 285,000
RO MHIA B 235 25,393,672 21,974,018 3,419,654
= 10,529,248
[~ 14,579,424
Cl 285,000
Xegolzal JsedAY 15,356,496 12,712,000 2,644,496
=2 7,678,248
[~ 7,678,248
403 TtXISHHE X201 H 15,356,496 12,712,000 2,644,496
=2 7,678,248
[~ 7,678,248
02 2| 2SO HE K2 X EFAH 15,356,496 12,712,000 2,644,496
Ooxgol2e Jse2AAY 15,208,000
=2 7,604,000
[ 7,604,000
OXgo2e BRI ALY 148,496
=2 74,248
[= 74,248
Xetolza BTL 2ME 3,906,000 3,905,770 230
=2 1,953,000
[ 1,953,000
403 XX SHHE X201 H 3,906,000 3,905,770 230
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SESAHHIA FHH 25t
S2ASNHI A~ FHH L35

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OEsT gl 83 MY 690,000
ALz oA ozoldd olAHl X3 AMY 1,600,000 1,400,000 200,000
= 800,000
< 800,000
308 XXM SOIA 1,600,000 1,400,000 200,000
= 800,000
< 800,000
10 I 2 SO0CHetE & & 2 & A I 1,600,000 1,400,000 200,000
OXgoga mA oz olsd old] XI& A 1,600,000
= 800,000
< 800,000
0o XMz g XA 10,000 20,000 A 10,000
307 21201 A 10,000 20,000 10,000
01 222l 10,000 20,000 A 10,000
O&=gel dzH X 10,000
HE2IAZH(BAEZ ) 241,654 230, 183 11,471
= 13,000
J| 17,200
< 211,454
A AHI(E21E 21t 81,371 69,843 11,528
= 13,000
J| 17,200
< 51,171
2L e ALY 34,400 27,954 6,446
J| 17,200
< 17,200
101 @14 Hl 34,400 27,954 6,446
J| 17,200
< 17,200
03 RIAHAZZ T+ 34,400 27,954 6,446
OZHMHZUS A QIAHI(E) 34,400
J| 17,200
< 17,200
BAL ZHALAML(FIH) 7,076 1,994 5,082
101 1244 dl 7,076 1,994 5,082
03 RIAHAZ 2B+ 7,076 1,994 5,082
OZHNMY2AS A 21HH EF2 7,076
HE2ZA2ZZH 26,000 26,000 0
= 13,000
< 13,000
101 @124l 26,000 26,000 0
= 13,000
< 13,000
03 RIHAZ 22 26,000 26,000 0
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